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0301101 Calculus | First test Oct. 25,2014

Name: > %7 Z\""”i‘z"""‘“% Number: O \lx 26 29 \’/‘WW'F’)‘

Instructor's name: L6 S;\,L’A‘ ;',-“ Class days and time: 0 5 5 \nt s

Questions 1 to 8: fill in the blanks with the answers only. Each question is worfh 1.5 n}:‘arks.h
Q1) If the domain and range of f(x) are [—1,3} and [0,4], respectively, then the

%
rangeof g(x) =1-— 2f1(3x)is E.—;,;}/ *
___Q2) If the domain of f(x) is [-2,1)and g(x) =2x + 1, then the domain of
(feg)(x)is (_.%-./03 - /
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___Q5)cos (Ztam’1 ( -:— )) ,

__Qe)Iff(x) =

___Q7) The graphofy = x? tan x is symmetric about OY:igiwn

___Q8)If 4* -2 - 6 =0,thenx =(03:/
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Questions 9 and 10: Each question is worth 4 marks.
___Q9) Find the function g thatis obtained from f(x) = |2x + 3| by the following

steps. Write the answer of each step.
a) Reflecting the graph of y = f(x) about the y-axis
b) shifting 2 units down \.— 2x43| “,/l_,/then
¢) stretching vertically by a factor of 2 units 2. 0 --“.*"\/‘J-)- then @
d) reflecting about the x-axis—.Z. (\ .-.-.11\*.'5\-1) > - L\“y\/*"“

___Q10) Solve and show your work. Let f(x) = In(2x + 1) = In(1 — 2x)

\-— 7—&3\”. . then

a) Determine whether the function f is even, odd or neither.
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b) Find f(x).
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